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ENGLISH VERSION

Instructions :
(1) Write answer of MCQ questions in answer book.
2) Question No. 1 is for MCQ questions and 2 to 6 for subject questions.
SECTION - 1
1 M.C.Q. questions : 20

(1) Which decisions have to be taken by the Financial

Management ?

A)
®)
©)
D)

Regarding Production
Regarding distribution of the earning
Regarding sales

Regarding purchase
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(2 If the element of risk in a project or a plan is more, then

what would be the rate of discount ?
(A) High B Low
(C) Same O) Indefinite

(3 Which method is considered popular for measuring the

risks contained in Capital Budgeting ?
(A) Sensitivity Analysis

(B) Probability Assignment

(C) Co-efficient of Variation

(D) Standard Deviation

4@ In which method of Capital Budgeting the true rate of

interest is found out by ‘Trial and Error’ ?
(A) Pay-back method

(B) Rate of Return method

(C) Return on Average Investment method
(D) Internal Rate of Return

(5) In which method of Capital Budgeting while valuating the
investment in the project, the profitability of the investment

cannot be determined ?

(A) Pay-back method

(B) Return of Average Investment Method
(C©) Net Present Value Method

(D) Internal Rate of Return Method
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(6) While finding out the rate of return on Average Investment,

the scrap valueis _ in the investment.
A) Added
(B) Not added
(C) Subtracted
(D) Neither added nor subtracted
(7) The concept of Wealth Maximization is related with
(A) Pay-back method
(B) Internal Rate of Return Method
(C) Net Present Value Method
(D) None of the above

® The concept of cost of capital is much similar to which of
the following ?

(A) Working Capital Concept

(B) Cash Management Concept
(C) Capital Budgeting Concept
(D) Valuation of share concept

© To get benefit from ‘Trade on Equity’ whose cost of capital

need to be known ?

(A)  Cost of ploughing back of profit (reinvestment of earnings)
B) Cost of Dividend

(C) Cost of Debt

D) Cost of expected cash flow
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(10) Which investment is considered free from risk ?

A)
®)
©)
D)

Investment in Equity Share
Investment in Preference Share
Invesatment in Government Bond

None of the above

(11) Why change is made in the capital structure ?

A)
®)
©)
D)

To distribute dividend
To increase the market value
To declare the rate of taxes

To remove the situation of under capitalization

(12) According to N.I. approach if debt is increased in proportion

of equity, what would be the result ?

A)
®)
©)
D)

The market value of the firm increases
There is a decrease in the weighted average cost of capital
There is an increase in the market value of equity share

All of the above

(13) Which approach related to capital structure is more realistic

and practical ?

A)
®)
©)
D)

Net Income Approach
Net Operating Income Approach
Traditional Approach

All of the above
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(14) Which process is explained by Modigliani Miller for
explaining logically the capital structure ?

(A) Arbitrage Process

(B) Cash flow process

(C©) Return on capital process

(D) Net operating income process

(15) When the company is paying dividend upto 10% of its
profit, how much percentage of profit is to be transferred to

the reserve ?
A 25% B 5%
© 75% (D) Nil percentage

(16) If a company’s earning rate is 15%, Cost of capital rate is
10%, Earning per share is 10%, dividend per share is Rs.
4/- and reinvestment of profit is 40%, find out the growth
rate. Use Gordon’s Model.

A 0.04 B 0.06
€ 0.03 ®) 0.05

(17) Dividend can be declared only after adequate provision for
what ?

(A) Cash flow
B) Doubtful Debt
(C©) Depreciation

(D) Payment of instalment as a part of debt
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(18) Which approach of dividend policy is constantly in favour

of investment of the retained earnings ?
(A) Walter’s Approach

(B) Gordon’s Approach

(©) M.M. Approach

(D) All of the above

(19) While finding R.O.I. (Return on Investment), if borrowed
capital is included in the total business investment, the

profit (earning) to be considered should be

(A) EBIT (Earning Before Interest and Tax)

(B) EAIT (Earning After Interest and Tax)

(C) EAIBT (Earning After Interest but Before Tax)
(D) None of the above

(20) The cost of every individual component of capital such as
equity share, preference share, debenture etc. is called

which cost ?

(A)  Specific Cost
(B) Marginal Cost
(©) Explicit Cost

(D) Implicit Cost
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SECTION - II

2  What do you mean by Financing Function ? How does the 10
function of financial manager differ under modern approach
in comparison to traditional approach ? Clarify.

OR

2  What do you mean by Financial Management? Examine the

objectives and scope of Financial Management.

3  Explain the concept of Capital Budgeting. State the process 10
of Capital Budgeting and explain its importance.
OR

3  Explain the different methods of Capital Budgeting Valuation.

4  What do you mean by Project Report ? Give its details. 10
OR
4  What do you mean by Cost of Capital ? Describe the methods

of finding various types of Cost of Capital.

5 What do you mean by Operating Leverage and Financial 10
Leverage ? How do both the leverages differ from each other?
Explain by showing the differences.

OR
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5  Explaining the nature of dividend policy, describe the fundamental

and practical issues connected with dividend policy.

6  Explain in detail Net Income (N.I) and Net Operating Income 10
(N.O.I) approaches of Capital Structure.

OR
6  Write short notes on any two :

(1) Comparative description of Net Present Value and Internal

Rate of Return.

(2 The Standard Deviation method of measuring risks lying

in Capital Budgeting.
3 The Modigliani—Miller approach of capital structure.

4 Walter and Gordon approach of dividend.
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